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Time Allowed : 2-2- Hours] [Maximum Marks : 150
All questions carry equal marks.
: INSTRUCTIONS
R Write your Roll Number only in the box provided alongside.
Do not write anything else on the Test Booklet. ‘

2. This Test Booklet contains 75 items (questions). Each item comprises four responses
' (answers). Choose only one response for each item which you consider the best.
*3. After the candidate has‘read each item in the Test Booklet and decided which of the given

responses is correct or the best, he has to mark the circle containing the letter of the
selected response by blackening it completely with Ball point pen as shown below. H.B.
Pencil should not be used in blackening the circle to indicate responses on the answer
sheet. In the following example, response “C” is so marked :
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4. Do the encoding carefully as given in the illustrations. While encoding your particulars
or marking the answers on answer sheet, you should blacken the circle corresponding tc
the choice in full and no part of the circle should be left unfilled. You may clearly note
that since the answer sheets are to be scored/evaluated on machine, any violation of the
instructions may result in reduction of your marks for which you would yourself be responsible

5. You have to mark all your responses ONLY on the ANSWER SHEET separately given
Responses marked on the Test Booklet or in any paper other than the answer sheet shal
not be examined. Use Ball point pen for marking responses.

6. All items carry equal marks. Attempt all items.

8 Before you proceed to mark responses in the Answer Sheet fill in the particulars in th
front portion of the Answer Sheet as per the instructions.

8. After you have completed the test, hand over the OMR Answer-sheet to th
Invigilator. :

9. In case of any discrepancy found in English and Hindi Version in this paper, the Englis]

Version may be treated as correct and final.
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PHYSICAL EDUCATION

Paper III

Time Allowed : 2% Hours| ' [Maximum Marks : 150
Note :— Attempt all questions. Each question carries two marks.
) & Objectives of Physical Education :

(A) Physical Development (B) Mental Development

(C) Social Development (D) All of these
2. Current era’s philosophy of education advocates :
(A) Idealism (B) Humanism
(C) Naturalism (D) Realism
3. Strength based exercise are also called as :
(A) Isotonic (B) Isometric
(C) I.sokinetic (D) None of these

4. Attainment of puberty endorses :
(A) Secondary Sex (B) Primary Sex Character

(C) Tertiary Sex Character (D) None of these

T.B.C. : 38/13/ET=IL. 2
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5. Aggression is the major component of :

(A) Combat sports (B) Team sports
(C) Individual sports ’ (D) Duel sports
6. Which is the best example of transfer of training ?
(A) Football, Basketball (B) Boxing, Cricket
(C) Judo, Badminton | (D) Basketball, Handball

T Which Olympic sport is indigenous in nature ?

(A) Shooting (B) Archery

(C) Basketball (D) Badminton
8. The First Asian Games were organised in :

(A) 1952 (B) 1948

(C) 1956 (D) 1942

T.B.C.: 38/13/ET-TIL. 4
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9, Which name is responsible for carrying the message from different parts of the

body to brain ?

(A) Efferent X (B) Aﬁ'erent'

(C) Vibrant (D) Convergent
10.  Veins are responsible to carry............oocoveerenennnn, blood.

(A) Oxygenated . . (B) Deoxygenated

(C) Carcinogenic (D) Diseased
11.  Cooling down i$ scientifically called as :
(A) Limbering Down (B) Rehabilitation
(C) . Depression (D) Relaxation
12. Based metabolic rate increases witl'; ;
(A) T Catabolic activity ‘ (B) Cfxtabolic activity

(C) 7T Anabolic activity (D) { Anabolic activity

T.B.C. : 38/13/ET=TIL_, ' 6
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13. Treatment through Ice is called :

(A) Cry therapy (B) Mud therapy
(C) Diapulse therapy : (D) Hydrotherapy
14. Ergogenic Aid is the.......ccccooeiriiiiiccieanees source which helps in increasing the
performance.
(A) External A ’ (B) Internal
(C) Lateral _ (D) Central

15.  Which one is not used for Doping ?
(A) Blood - (B) Gene
(C) Water (D) Coﬁ'ee

16. The total number of vertebrac.e in spine of an adult is :
(A) 24 (B) | 31

(C) 18 (D) 26

T.B.C. : 38/13/ET-Z1L. 8
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17. The axis perpendicular to the Ground and divides the body into upper and

_ lower halves is :

(A) Vertical'axis ! - (B) Frontal axis
(C) Sagittal axis (D) None of these
18. Electrogoniometer is used to measure the :
(A) Length of the joint (B) Angle of the joints
(C) Joint deformity - (D) None of these

19. Which system of the body is involved in mott'.or learning ?
(A) Cardiorespiratory (B) Endocrine
(C) Neuromuscular (D) Skeletal

20. The word ‘motivation’ is derived from.a Latin word :
(A) Moc;ver | (B) Moveer

(C) Movere ; (D) Moverr

T.B.C. : 38/13/ET=[1L. 10
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21. Tangible rewards such as candy, money, prizes ete. refer to :
(A) Extrinsic motivation (B) Intrinsic motivation
(C) Demotivation : (D) Bribe

22. Violence in sports is the end.product of :

(A) Aggression (B) Tension
(C) Depression | (D) Political
23. I_ntrgverts are interested in :
(A)- Others _ (B) Themselves
(C) None (D) All
24. Mega sports events aﬁ'ected the economic ¢ondition of the country in :
(A) Positive way (B) Neg’ative way
(C) Neutral . (D) None of these

T.B.C. : 38/13/ET=I]L_ 12
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25, Individual difference in learning process is independent to :
(A) Social and economical background
(B) Physical abilities .
(C) Personality difference
(D) Skin colour
26. N.E.T. stands for S
(A) Nation Eligibility Test .
(B) National Educational Test
(C) National Education Tést
(D) National Eligible Test
27. Physical activity curriculum should based on :
(A) Participants (B) Leader
() Tnstitution (D) ‘Religion

T.B.C. : 38/13/ET<T1L. 14
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28. Minimum qualification to become eligible for lectureship as per UGC guideline
is :
(A) Masters + NET/SLET/Ph.D (B) Bachelors + NET/SLET/Ph.D
(C) Masters + M.Phil (D) Masters only
29. Physical Education curriculum for the age of 4-8 years should ha;/e :
(A) Judo (B) Boxing
(©) Aerobi.cq. ' (D) Volleyball
30. Food supplies energy for :
(A) Running (B) Heart function
(C) Activities (D) All of these
31. Proteins are essential :
(A) for endurance activity
(B) for growth and development
(C) to get freedom from diseases

(D) breaking down complex food molecules

T.B.C. : 38/13/ET-11L 16
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33.

34.

35.

Good cholesterol refers to :

(A) Low density lipoprotein cholesterol

(B) High density lipoprotein cholesterol

(C) Cholesterol having rati? 6.0 and above

(D) None of the above

Which of the following are not communicable diseases ?
(A) Hepatitis and Typhoid

(B) Cardiac arrest and Diabetes

(C) Malaria a;1d Tuberculosis

(D) Rabies and Tetanus

In normal curve when the concentration of score is above the centre and it

tails off towards the left, then the skewness is :

(A) Positive (B) Negative

(C) Both of these (D) None of these
Which of the following is called fibrous joint ?

(A) Joint of the ribs (B) Joint of the fingers

(C) Skull joint (D) None of these

T.B.C. : 38/13/ET-TIL 18
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36.

37.

38.

39.

Which of the following is called “Master Gland” ?

(A) Thyroid (B) Adrenal

(C) Pituitary (D) Gonads

Which of the following is an inappropriate method of weight control ?
(A) Exercise (B) Balanced diet

(C) Starvation (D) Yoga

Which body system predominate in devglopment of height ?

(A) Respiratéry system (B) Skeletal system

(C) Digestive system (D) Cardiovascular system

The first step of training programme is a training needs analysis. What does

this aim to do ?
(A) - Produce selection criteria
(B) Identity of the training objectives

(C) Establish the training resources required

(D) All of the above

T.B.C. : 38/13/ET=I1L. 20
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40.  Which of the following is the principle of specific training ?

(A) Individual difference .(B) Progression

- (C) Training programme (D) Physiological changes

41. Tactic means :

(A) Technique of playing game

(B) Rules and Regulation of the game

(C) Playing the game with different gadgets

(D) Utilization o-f one’s own technical skill
42. Decrease in performance capacity is due to :

(A) Overload (B) Underload

(C) Both (A) and (B) (D) None of these

43. The type of contraction in which the length of the muscle remains the same

but it develops tension is called. :
(A) Isotonic contraction (B) Isokinetic contraction
(C) Flexibility (D) None of these

T.B.C. : 38/13/ET=T1L_. 29
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45.

46.

47.

Ballistic method is one of the methods for improving :

(A) Strength (B) Endurance

(C) Flexibility ' (D) None of these

The success of traininé depends heavily on

(A) Good relation with the sports bodies

(B) Drugs; gnd supplements

(©C) Corr.ect and rea.listic determination of goals

(D) None of the above

Training Session is gengrally dividéd into the following parts except one :
(A) Technique training (B) General and specific warm up
(C) Competition (D) Cool down

Direction of Running in Athletics Track shall be :

(A) Anticlockwise (B) Clockwise

(C) Both side (D) None of these

T.B.C. : 38/13/ET=][[ 24
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48.

49.

50.

51.

Term like ‘diamond,’ is related with which gafne ?
(A) Cricket (B) Soft-ball
(C) ﬁoxing g | (D) Chess
The term ‘dead ball’ is used in which game ?

(A) Handball (B) Tennis
(C) Table Tennis (D) Cricket
To break tie in shot: put :

(A) One additional throw is given

(B) Average of all throws is taken

(C) Last attempt is considered

(D) Second best performance is considered

For compare more than two groups which of the following tests is used ?

(A) t-test (B) F-test

(©) xz-test (D) Post-hoc test

T.B.C. : 38/13/ET-11L. 26
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52.  The scope of research is indicated by :
(A) Limitation of the study
(B) Delimitation of the study
(C) Definition and exp]anation‘ of the terms
(D) Interpretation of research results

53.  The phi-coefficient correlation used to determine the relationship between the

scores of :

-

(A) Mean and Nfedian
(B) Good and Poor
(C) Mean and Standard Deviation
(D) None of the above
54. Equated group design is also called :
(A) Random group désign
(B) Repeated measures design
(C) Reverse group design
(D) Parallgl group design

T.B.C. : 38/13/ET=T1L. 28
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55. Stadiometer is used to measure :

(A) Height (B) Weight

(C) Girth ‘ (D). None of these
56. The research which is mainly concerned with past event :

(A) Survey ; (B) Historical

(C) Experimental (D) None of tl'lese
57. Which of the following is not laboratory technique ?

(A) Survey of social-status of school children

(B) Measurement of motor fitness on the play field

(C) Measurement of body composition

(D) Measurement of sports skill efficiency in football

58. When the scores are arranged as ranks and number of cases are small, the

‘method designed for correlation :
(A) Contingency coefficient (B) Biserial correlation

(C) Rank difference method (D) None of these

T.B.C. : 38/13/ET=-TIL. 30
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59.

60.

61.

62.

An instrument to measure work :

(A) Dynémometer '(B) Angiograph

() Spiromeﬁer | ’ PR ¢ 2 Ergograph
Consistency of the measurement for ahy given sa:mple ;

(A) Reliability | | (B) Validity

(C) | ‘Standafd . (D) Coéfficient of correlation
How many body sites are taken for skin fold measurement of fat ?
(A) One | | (13)- Two

(C) Three ' D) Four

Which .itern is not included in JCR test ?

(A) Vertical ngp- (B) CIﬂﬁning up

(C) Shuttle Run (D) Long Jump

T.B.C. : 38/13/ET=/IL . | 32
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63.

64.

66.

The term ‘Let’ is used in :

(A) Tennis (B) Basketball

(C) Football | (D) Handball

The glass column in sphygmomanometer shows the level of :
(A) ’Silver | . (B) Mercury

(C) Radium (D; Copper
Generally correlation between BM and body fat percentage is :
(A) Positive (B) Negative

(C) Uncertain (D) Zero
Management is a :

(A) Planning (B) Administration

(C) Supervision (D) All of these

TR - 3R13ETTIT. 34
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67.

68.

69.

70.

T.B.C. : 38/13/ET-TIL .

Management depends on :

(A) Economics

(C) Politics

(B) Sports

(D) Religion

Sponsorship is the key coniponent of :

(A) Players

(C) Training

(B) Marketing

(D) Tactics

Inter-versity competition is the example of :

(A) Practice Matches

(C) Open Competition

(B) Closed Competition

(D) None of thgse

While drawing fixture, the formula for determining for odd number of teams

in lower half is g

n
(A) 9

n -1

(C)

2

(B) n +1 ' =
2
(n + 2
‘(D) )
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67. wEYA AR FEa@ ¥ -
(A) #HIETEH T
(C) TTHIfa WX
68. wIEI¥Y F1 gEA HAUR ¥ :
(A) femrs
(C) wfgrago
69. siafdvafaerea wfaafa sqtw ¥ -
A) dem §=9 =

(C) et gfadifiar =1

(B)

(D)

(B)

(D)

(B)

(D)

T W

g9 9T

sg yiadmrar &

T 9 HE T

70. faum W = 9 w1 frea=R g 999, e e 3 39 & @ & s

T ?
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72.

73.

74.

75.

International Olympic Committee was formed during the International

Athletic Congress in :

(A) Athens (B) Paris

(C) Lussane | (D) Rome
When was International Olympic Committee formed ?
(A) 1892 (B) 1894

(C) 1896 . (D) 1898

Split half is a method to establish :

(A) Validity (B) Variability

(C) Reliability (D) None of these

Sit and Reach Test measures :

(A) Abdominal Strength (B) Shoulder Strength

(C) Flexibility (D) None of these
Management of Physical Education depends on :
(A) Teacher’s Personality - (B) Infrastructure

(C) Highly Qualified Personnel (D) Finance
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72.

73.

74.

75.

TIEYE SEE FHS aUwE UHeeh HUE ® A adl o
(A) TwIE H (B) ufw #

(C) TEH H ' . (D) 9 #
fetw e wEA W T w9 g o 2

(A) 1892 " (B) 1894

(C) 1896 (D) 1898

(A) afafed (B) aRdfafad
(C) framfafedt (D) ¥H ¥ FE T
fae iR 09 &= e ¥

(A) TUsSIHA drhd (B)m’aaﬁ‘m
(C) T (D) 378 | = &
iR fen weem sk wwa ® e

(A) foes & aFfma W (B) TR W

(C) fedrmg g =t ™ M) &9 W
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